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1. What’s the man’s opinjon ghout the woman’s dress?

A.He thinks it pretty. B. He thinks it awful. C. He thinks it kidding.
2. What's the man’s job?

A A traveller. B. A teacher. C. A news reporter.
3. What’s Lisa wearing?

A. A blue dress. B. A red dress. C. A yellow dress.

4. What will the man do?

A.He will take the woman to a lovely garden.

B.He will go to see a film with the woman.

. He will pick up the woman at 6:30.
5. Why is the woman's father going to retire?

A . He is old. B. He is in good health, C.He is in poor heslth.
WoH (3 I5/MEHIE LS55, W0 22.59)
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6. Where are the two speakers?
A.On a ship. B.On a plane. C.On a train.
7. Why isn't the man going straight to London?
A. To visit other places.
B. To save money.
C. To meet some Romanian friends.
T ERMN, BEES.9H,
8. Where does the man live?
A.In a beauriful garden, B.ln a camp. C. In the mountains.
9. Why does he live there?
A. Because there is no pollation.
B. Because there is a beautiful lake.
C. Because there is a cabin.
MRS EME FAESI0ZF 128,
10. What's wrong with the two speakers?

A. They don’t have an engine.
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B. Their tank is half full.
C. They run out of gas.
11. Where are they going?
A.To the sea port.
B. To the railway station.
C. To the airport.
12. Whart should they do now?
A. Do nothing but wait.
B.Find a policeman.
C. Telephone the nearest gas station,
Wi o BRHH,BIESE 13 F 16 &,
13. What is the man asking about?
A, The woman's last job.
B. Idea] Systems.
C. The woman’s work experience.
14_How many companies has the woman worked for?
A3 B.2 C.4
15. Why did the woman leave Formar?
A.5he had a quarrel with her boss.
B. She needed a change.
C. The company closed down.
16. How many vears did the woman work for Ideal Systems?
A.Ten. B. Five. C. Two.
Wrss 10 BEh M, EES 17 E 20 8,
17. Whar destroyed Tokyo the second time in this century?
A. Pollution. B. Earthquake. C. War.
18. What happened during the earthguake?
A. People lost their homes,
B. People pulled down their houses.
. People lost their jobs,
19. What caused Tokyo to develope fast during the 1960°s?
A.The Olympic Games.
B. The raptd growing population.
C. The world wars.
20. What challenges is the government facing now?
A. Waste disposal and job problems.
B. Housing problems and pollution.

C. Pollution and crimes.
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# :How much is the shirt?

A £19.15 B. £9.15. C. £9.18.
HERE B,
1. What’s Tony’s phone number?
A.021 —-63535171. B.021 — 63535261 C.02]1 —63536261.
2. What does the woman want?
A.Wine, B. Beer. C.Tea.
3. In what competition( lt %) did Julie win first prize?
A. Driving competition. B.Diving competition.  C.Dancing competition.

4. Where does this conversation take place?

A.In a restaurant.

B.In a museum.

C.In a theatre.
5. What are the two speakers talking about?

A. The railway station.

B. A friend.

C.A film.
BEoF (RSS2, 8F22.59)
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6. What is the woman?
A. A manager. B. A reporter. C. A driver.

7.How far does the man live from his job?
A.5 kilometres.
B.#6 kilometres.
C.More than 10 kilometres.
8.How does the man go to work?
A. By bus. B. By car. C.By train.
SR T BHE REEE 1 E,
9. Why shouldn’t the man open the door?

A.Because it was locked. B. Because it was very hot.

TE A AT e -
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C. Because of the smoke outside.
10, What happened at the hotel?
A . There was no electricity.
B. There was no water.
C. There was a fire.
11.How did the speakers get out of their room?
A They called the police for help.
B. They climbed out of the window.
C. They covered up in wet sheets and ran away.
WriE 8 B R L EIEM 12 F 148,
[2. What won 't the speakers do this weekend?
A. Take a boat to the islands.
B.Go to the river.
C. See a play.
13. Why does the man suggest phoning the theatre?
A. To book tickets.
B. To check if there will be a play.
C. To check if it is open this weekend.
- 14. What’s the phone number?
A.527 - 086. B. 572 - 860. C.527 - 860.
EIBRME BEEISE17HE,
15. Where does this conversation take place?
A.In a hotel. B. In a hospital. C. In a shopping centre.
16.On which {loor is the Exhibition Centre?
A. The ninth floor.
B. The third floor.
C. The second floor.
17. Why does the man come to Hong Kong?
A.He is on holiday. B. He comes for the computer exhibition.
C.He comes to meet Peter Smith from Greece.
EIORME, FES 18 2208,
18. Why did Lorraine come 10 London?
A. To study hospital management( )
B.To visit the beautiful parks in London.
C. To study the buildings in London.
19. What's the weather like in London?
A. Sunny. B. Windy. C. Rainy.
20. Which city has a serious traffic problem?
A. London. B. Trinidad. C. Sydney.
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1. What are the two speakers doing?
A.Enjoying meeting each other. B. Saying good ~ bye to each other.

C. Planning to see each other.
2. What can you guess about the man?
A.He is a hard working boy.
B.He is as dull as Jack.
C.He’d like 1o go with Lisa.
3. What is the man?
A. A waiter. B. A conductor. C. A book clerk.
4. What’s the relationship between the two speakers?
A. A boss and a salesgirl.
B. A teacher and his pupil.
C. A professor and his assistant.
5. What do you guess about the man?
A. He didn’t sleep well last night.
B. He is going to play a game.
C.He is lying in bed.
W_BH(H5EBNE1.59,.8522.54)
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6. What 's the woman going to do?
A. Attend her friend’s wedding party.
B. Attend Lan’s party.
C. Do some shopping with her friends.
7. What does the man suggest 1o the woman?
A.Wear her new dress.
B. Wear the light blue dress.
C.Wear a more formal one.
Brig 7 B 40K, &R 8,9 8.
8. What time is it when the dialogue happens?
A. At 8:00. B. At 7:30. C. At 7:47.
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9. What's the result of the dialogue?
A.The man will drop the woman at a nearby underground station.
B. The man will drive the woman to Park.
C. The woman will not meet her friend on time.

Wi 8 BBk, EESE 10,11,12 &,

10. Where does the dialogue take place?

A.In a restaurant. B.In a bookstore. C. At home.
11. What does the man order?
A. A hamburger and coffee. B. A Coke and a cake.

C. A hamburger and a Coke.
12. How much does it cost?

A $1.70. B. §1.17. C.$17.
Yish o BH R, B 13,14,15,16 &,
13. What is Sally?

A. A famous singer.  B.A film star. C. A famous swimmer.
14. Where is Sally now?
A.In a competition.  B.In a swimming pool. C. In California.

15. What did she do at the last Qlympics?
A. She broke all the records.
B. She won many cups.
C. She swam thirty — five miles.
16. Why has she given up swimming?
A. She is too old to swim.
B. She prefers visiting other countries.
C.She can't win any international competitions.
U8 10 B4 8, EES 17,18,19,20 &,
17. When did the story take place?
A. In the moming. B. In the afternoon. C. In the evening.
18. What was Harry's problem?
A. Everyone at his school liked him.
B. No one at his school liked him.
C. Some peoptie at his school disliked him.
19, Why didn’t Harry want to accept his mother’s advice?
A.He thought he was too weak.
B. He thought he was the headmaster.
C.He thought he was too old to change.
20. Whar have vou learned from the text?
A. Harry is a bus — driver.
B. Harry is & student.

C. Harry is a headmaster.
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1. Why is the speaker going to the States?

A, His company is holding an exhibition in the States.

B. He is going sightseeing in the States.

C. His vompany is going 1o show comiputers at the exhibition in the States.
2. What do you know about the price of meat?

A. It has risen everywhere.

B. It is cheaper in other stores.

C. 1t is even more expensive in other stores.
3. What do you know about the man?

A.He was seriously ill.

B. He is probably a doctor.

C. He didn’t like 10 see the film.
4. Why is Mr, Robinson wanted to come to the hospital?

A Because he is a doctor there and a patient needs him.

B.Because his son has been taken there after an accident.

C.Because he has been ill and needs to see a doctor.
5. What does the man mean?

A. He needs 1o make more phone calls.

B. Using the mail wil! reduce his telephone expenses.

C. His friends would rather hear his sound on the phone.
BoP(RLHE;EMNELS R, 22.558)

P SEMEREE., SRMERBASEILN/ME AE B FHER AB.C=/ER
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6. What is the relationship between the two speakers?

A. They are shop assistant and customer.

B. They are waiter and customer. C.They are doctor and patient.
7. What kinds of food are served in this restaurant?

A.French food and Chinese food. B. Italian food and Chinese food.

C.French food and regular English food.
W 7TEME, MERE M,
8. What do the members of the Red Roses do?

A. They are pop singers. B.They are pop music lovers. C. They are fiim stars.

0. What time will they meet at the theatre?
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AL At 6:20 this Saturday. B. At 6:30 this Sunday.
C. At 630 this Sarurday.
s 8 BUM A, IBIEE 10,1112 &,

10, Where were the man’s glasses?

A. Above the mirror. B.In the bathroom. C.On his face.
11. What did the man forget once he went fishing?

A His boat. B. His pants, C. His fishing pole.
12. What i3 the most probable relationship between the two speakers?

A. Brother and sister. B. Hushand and wife. C. Friends.

W 9 Bih R, IE %58 13,14,15,16 88,
13. How does Julie want to go to Canada?
A. She insists on flying there. B. She prefers to go there by ship.
C. It isn't told.
14. What is Tom s opinion?
A. He thinks air transport is the safest,
B. He thinks air transport is really safe compared with road transport.
C. He thinks air transport is safer than water transport.
15. What is Julie’s opinion about going by sea?
A, Though it is not f{asi,it is relaxing.
B.1It is both fast and relaxing.
C. It is neither fast nor relaxing.
16. Afrer Tom’s persuasion,what does Julie think about her trip?
A . She’d like 1o fly 1o Canada.
B.She’d still prefer sailing 1o flying.
C. She can’t make a decision.
WrE 10 Br ity B, B 5% 17,18,19,20 &,
17. Why is the reading system for the blind called the Braille?
A. Because it was invented by the person called Braille.
B. Because it was first used by the person called Braille. C. It is unknown.
18. When did Louis Braille live?
A He lived in the 1700s. B.He lived in the 1800s. C.He lived in the 1900s.
19. How did Braille become blind?
A. He was born blind.
B. He became blind as a result of an accident.
C. Afrer taking some medicine, he became blind.
20. Why did Braille think blind people were the loneliest in the world?
A. Because no pecple would make friends with them.
B. Because no relatives would like to live with them.
C. Because there were no books for them to read and they coutdn’t know many things by feel-

ing or hearing only.
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1.On which day will the man come?

A.On any day in the week.

B.On other days in the week except Monday and Thursday.

C.On Moenday or Thursday.
2. What did the man do last night?

A. Reviewed his lessons.

B. Went to see a football match.
C. Played football with his friends.
3. Which sign is it?
A.NO SMOKING! B.BE CAREFUL! C.NO PHOTOS!
4. How does this Miss judge the so— called gas man?
A. By looking at his clothes.
B. By questioning him.
C. By checking his 1D card.
5. What can we infer from the dialogue?
A.The woman has finished reading “Gone with the Wind”.
B. The man wants to read the hook, too.
C. The book ‘is not worth reading.
Bk 15/ E, 5N E1.58,HK322.5%)

WFESEMNERME, BRWERMEAFHFILNNE ABYH S AB.C =&MW
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WrE 6 BRME,BEIESE 6 2 8 M,

6. There were no classes yesterday afternoon, were there?

A, Yes, there were, B. No, there weren’t. C. No, there were.
7. Why did Li Feng look tired?

A.Because she had s bad cold.

B. Because she was busy looking after Aunt Huang’s baby.

C. Because Aunt Huang was ill.
8. How did Li Feng make the baby not cry?

A. Jumped,sang and so on.

B. Taold a funny story.

C.Laugh to the baby.
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9. What happens when they are walking in the street?
A. They see a First Aid car coming.
B. They see a man lying on the ground.
C. They see a man falling off the ladder.
10. What do they do?
A.They call the First Aid Center for help.
B. They move him 1o the side of the street.
C. They take him 1o the nearest hospital.
11. Which of the following might be true?
A.The boy and the girl are nurses and dactors.
B. The man must be badly injured.
C. The police come and help.
HESBEHH EERI2FE4H,
12. What do the Americans do when they meet a stranger?
A. They musi say“Nice to meer you!” B. They must say"How do you do?”
C. They often just say“Hi"or “Hello" 10 him with a smile.
13. What do the Americans not do when they meet a person for the first time?
A.They aren’1 polite enough 1o him. B. They say nothing to him.
C. They don’t always shake hands with him.
14. What does an American often do when he is leaving?
A. He often leaves without saying anything.
B. He often waves goodbye. C.He often gives a hand shake.
WEIBRMN HEEISE 18,
15. What is the passage about?

A. Newspapers in Britain. B. Shops in Britain. C. Meals in Britain.
16. When do most shops open?

A.9:00 a.m. B.5:60 p. m. C.5:30 p.m.
17. What kind of shops will stay open till 8:00 p.m.?

A. Newspaper shops. B. Cigarette shops. C. Big Food shops.

18. What things are not allowed to sell on Sundays?
A. Candies. B. Cigarettes. C. The text doesn’t tell us.
UrHE 10 BEAMP R B 19 B 20 &,
19.On which page is Exercise 67
A Page 101. B. Page 102. C. Page 103.
20. When should students hand in Exercise Book 27
A.1In the morning the day after tomorrow.

B.In the afterncon the day after tomorrow. C. Tomorrow alterncon.
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1. What language will the man speak tc the engineer?

A.Either English or French.

B.Both English and French.

C. Neither English nor French.
2.What can we know about the ticket?

ATt is lost. B. It is not lost.

C. The man doesn’t know whether it is lost or nox.
3.How will the woman go to the library?

A. She will take a bus.

C. She will go en foot.

C. She will go straight on the left.
4. When does the woman mean?

A At 9:20. B. At 11:40 C.At2:00
5. What does the woman mean?

A.Tim has only one fault.

B. Tim lost his job because of his careless ness.

C. Tim spent much money on {inding a job.
H_H(HISE;HBHMNELE,HER155)

MTESEMERME. BRNERBAEALCAE AFPFEH AB.CEZ1ER
REHBREES, WERNESM AN, AREEHAREENNE  FREF. SN EHBE S
PaREENE, BRYERMOETE.

HECBMN HELETHE,

6. Where does this conversation take place?

A. In Beijing. B. In Urumchi. . C. At a station.
7. What does the woman think about their trip to China?
A.It's exciting. B.1t’s long. C.1t's a pity.

WRTEMH, AERNSFE M.
8. What does the woman plan to do at first?
A. She plans to see Maurice. B. She is not sure.
C. She plans 1o have a lictle parly.
9. Where will they go at last?
A.To the party. B.To Maurice’s house. C. To Malcolm”s house.

HESEHHE, MEH 10%E 12 5.
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10, What do you think “Discoveries”is?
A. It is the name of & book.
B. It is the name of a magazine.
C. [t is the name of a newspaper.
11. Why did the man spend ten days in prison?
A. Because he was caught stealing?
B. Because he reported on prisons.
C. Because he wrote adventure reports.
12.What's the result of his adventure?
A. People got excited and angry with the prisons.
B. He learned a good lesson.
C. Priscners are now betier 1reated.
W o BN, BIER13F 16 &,
13. Where did the man spend his summer holdidays?
A. In France. B. In Switzerland. C.In Cyprus.
14. Why doesn 't the woman like flying?
A. She had a bad experience.
B. It was much more expensive.
C. It was a litrle hotter.
15. What's the man’s opinion about flying?
A Flying is always better than taking a train or boat.
B. To travel by road or rail 18 more interesting.
C. You’d better rake a plane when the journey is long.
16. Why did the woman feel cool during her summer holidays in Cyprus?
A. She lived near the sea.
B. She stayed at home most of the time.
C.She stayed in a high place.
WE 10 BEHH, BES 17 E208,
17. What's the weather usually like in England in autumn?
A Fine. B. Good. C.Best,
18. How did they travel in London most of the time?
A. Tbev took buses.
B. They walked.
C. The teok the underground railway.
19. What were their favorite places to go?
A Theatres.
B. Shops.
C. Restaurants.
20. Where are they going to travel this year?
A. London. B. Tawy. C. China.



